Thomas’ Calculus Early Transcendentals 13ed

Study guide for quiz 01

Quiz problems include both the lecture contents and homework problems.

1. Review Limit laws, technique of rationalizing numerator or denominator to find the
limit of the form (Q). Review statement and applications of Sandwich Theorem. Keep
in mind typical examples of 'lim f(x) does not exist’.
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2. Memorize the precise definition of lim = L using € and ¢.
Tr—rcC

3. Study how to prove lim,_,. f(x) = L using standard tricks such as the ¢/2 argument.



1 Some common mistakes in section 2.3, problem 43
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2 Problem 2 of homework week 03

2.1 Correct answer
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2.2 common mistakes

The most common mistake is to start from

a<p<A, b<q<B.



to conclude that
a—b<p—qg<A—B (Wrong!)

The correct number you should use in your proof is 4 +2 = 6, not 4 — 2 = 2.

The second common mistake is to skip the derivation. You need to first 'break the
absolute value’, then do the correct addition or subtraction. Skipping the derivation can
lead to wrong conclusion, and will lead to point deduction even if the conclusion happens to
be correct.

L

For any ¢ 20, there exisTs  §, 70 and Dz 20, such Thal
v
i ¢ p ¢
FERE PR s
17 = / 2
N Vv st 2
) < i X ‘u] 03 2) /.;"', 2 9X) =M ¢

&

’) Tﬁ\k@ 8 :N\\/V\ ( }r ! /D—y)

Ay ettt 7 U’M[o(//>jd) “fltmcl
4 ¢ 7,j<<)/zw/\é @

2 -4 ¢ Cy{(‘%)f >j(~<) - (4(,’ 2M)¢ v

7146590 -(11-5m) | ¢ > A (@figg9)= 41-2m









